SYSTEM ADMINISTRATION

1. Which of the following is not associated with a responsibility? 

A. Menu
B. Request group

C. Data group

A. D. Password expiration
B. Answer: D

2. What do you need to do to allow a different user to see your output file? 

C. The user must log on as a system administrator.

D. The user must have the View My Requests form in system administrator mode.

E. The user must be logged on with the same responsibility as the user that generated the output file, and the profile option Concurrent: Report Access Level value must be set to Responsibility.

F. The user must be logged on as the same responsibility as the one that generated the output file and profile option Concurrent: Report Access Level value is User.                                   
Answer: C

3. When will a request group become a request security group? 

A. When the request group is assigned to a responsibility
B. When the request group is specified for the Submit Request form

C. When the request group is defined with request sets

D. When the request group is defined with stage functions                             
Answer: A

4. How can you customize the SRS process? 

A. Change the form title
B. Restrict it by request group

C Eliminate the Submit Another Request dialog window

D. All of the above                                                                                           
Answer: D  

5. Which is not a component of a request set? 

A. Stage
B. Group

C. Request

D. Parameter

Answer: B

6. Which of the following operations cannot be performed with the internal concurrent manager? 

A. Restart
B. Verify

C. Deactivate

D. Terminate

Answer: A
7. Which one of the following will be the correct outcome with two include rules in a combined rule? 

A. Program will be included if the program is in one of the include rules
B. Program will be included if the program is in both of the include rules

C. Program will be included if the program is run by one of the two Oracle IDs in the include rules

D. None of the above

Answer: B

8. When will the number of actual processes be less than the number of target processes? 

A. When the concurrent manager is down
B. When the concurrent manager is coming up

C. When there are not enough requests

D. All of the above   

Answer: D

9. Which of the following is not a component of parallel concurrent processing? 

A. Internal monitor
B. Transaction manager

C. Primary node

D. Secondary node  

Answer: B

10. Which of the following is the overriding level for profile option values? 

A. Site
B. Application

C. Responsibility

D. User
Answer: D

11. Which of the following is the correct sequence for setting up database change audits? 

A. Audit installations, audit tables, audit groups, audit trail update tables request
B. Audit installation, audit groups, audit tables, audit trail update tables request

C. Audit trail update tables request, audit installation, audit groups, audit tables

D. Audit groups, audit tables, audit trail update tables request, Audit Installation   
Answer: B

12. Which of the following is not a document sequence type? 

A. Category
B. Automatic

C. Gapless

D. Manual    
Answer: A

13. Which of the following determines the subdirectory for an executable? 

A. Application name
B. Execution method

C. Subroutine

D. Execution filename 
Answer: B

14. For what is the Token field used? 

A. Default value
B. Profile option value

C. Oracle Reports parameter

D. Value set         
Answer: C

15. How are output files associated with various printer components? 

A. Through the printer type of the selected printer and the selected print style
B. Through the selected print style and the selected printer driver

C. Through the selected printer type and the selected print style

D. Through the printer type of the selected printer and the selected

Answer: A
